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Question Number : 1 Question Id : 87408110018 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following data collection methods is not normally used in qualitative
research ?

e J H BE-E RSS! HqHsv GEE B 9GET JEEE: JOAS
o H A A S BT

Options :

Participant observation

1. %

Focus groups
, g PRI HiE

Questionnaire
3, ¢ AXTE

Semi-structured interview

4 % Hem H{HATHE HIEAERIE

Question Number : 2 Question Id : 87408110019 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

When a hypothesis states that there is no difference between two situations, groups,
outcomes or the prevalence of a condition, it is called :
U OieRedE TAEH o f™iodl, 9=, 9RemAr a1 el i @ =
H T HAT A8 &, d 34 HEI A B
Options :

Alternative hypothesis
| % Tieaes OiERea

Null hypothesis
— rv'r"r;_ﬂ
) 9 U =hed-l

Descriptive hypothesis
3w TOTHS T

Numerical hypothesis
4 x GEATHE THEHTT

Question Number : 3 Question Id : 87408110020 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which kind of research, analysis of data is an ongoing process during data collection ?

T =R & 9N o RSl & SUE9 & Gl HATHS! hl 90 UF Jod

Options :
Qualitative

1w 3T

Quantitative
) ® HI=THE

Survey

HaeToT

3. %

Experimental

U L=
4, % '

Question Number : 4 Question Id : 87408110021 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the main aim of interdisciplinary research ?
Options :

To over simplify the problem of research
HATHIA FHET F i T4 &

1. ®

To bring mlt the holistic ’1ppmach to research

2J34:1'€TI7|' qulfﬁlu—ﬂ:{ﬁm

To create a new trend in research methodology
% FIEUN TSl H oAU ugig & FEe & e

3.

To reduce the emphasis on a single subject in the research domain
TIEAN = F o ow faueg 97 g9 (F9) @ 59 @ § o

4, ®
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replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following feature is considered as critical in qualitative research ?
‘]"JTI?HTQ'ITJ:EW#, MfeTaa § o HiE-Al -{I?I'-II?F[‘T”'_—FI“TWHT
ST Hebel 5 7

Options :
Collecting data with the he]p of standardized research tools
L% H Ld ST ITHION Al HerEdr o ?r-llﬂh‘al T Hehoro

Design sampling with probability sample techniques
5 % EEEIAT gGeT Tl W Hies =EE H A THDed

Collecting data with bottom-up empirical evidence
USTIl ® Hebod H O FAETEd HJiEmd @ e H 3= 'l @ AR

Gathering data with top-down schematic evidence
y w 99 F TP FIReT Jea d9inEa gen JaEeT
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Parameter’ indicates the characteristics of which of the following ?

‘e’ MeTeaT " o e SeTaare & senar 5 7
Options :

Population

1, o

Sample
5w HfcTEel

Statistics

Statistical measurements
4 % HADE AT

Question Number : 7 Question Id : 87408110024 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an indication of the quality of a research Journal ?

F=iAiEe | | HE-E U SN 9= H YO B FHDH BT
Options :

h-index
L% Lt EEAET

g-index

) ® ST-H=ARIH

i 10-index
s % FTS 10-F=HH

Impact factor
4 T T



Question Number : 8 Question Id : 87408110025 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The nmphng techmque based on referral system Dfrespcrndenh is known as :
IUIGIIAT & T JUEl 9 ATHG 9iad=ad T &l . @ 09

H AT AT B

Options :
Convenience Sampling
-FI:; b T, b=
L% ﬁ-_j)I-IﬂT HAld=H+

Snowball Sampling
=T Oia=a

Cluster Sampling
VeI ISERE

Stratified Sampling
T Jid=a4

Question Number : 9 Question Id : 87408110026 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the first stage of a systematic review of literature ?
AT el HHIAT & 95l =29 497 5 7

Options :

Assess the relevance of each study to the research question(s)
.- HATEH UeS (WeHl) H U Ued FeAAS B ATENTRT B FHThT
Define the purpose and scope of the review
, @ THET & Igesd A AT H 9

Appr’u%& the qmllh of studies from the previous step
fgel =791 & ol (F=Ed) | TOTET AT FEE

3. %



Survey all of the literature contained within a single library
% T B JEaheE | Mg g4 afee i adeo

4.

Question Number : 10 Question Id : 87408110027 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What does it mean to operationalize a variable for empirical research ?
HAIATTA AJHIH & 0 U =T B/ =TT HIA B AT AL F 7

Options :
Defining variables into measurable factors
1. ¢ T M A AT FHEHI H IHNTT He

Describing which variable will be operational
, w T HAT o6 HBEA-H = A= B

Describing the tools of research
3 x FTHI & HIEA B IO AT

Describing the criteria of selection of elements in sample
4 x FGRT H SHEAT & FIT & AWGS B IO HIAT

Question Number : 11 Question Id : 87408110028 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

ANOVA is used to calculate :

UHTET (ANOVA) T I99RT 9641 JET & ¢

Options :
The difference between two treatments effect
| % S TUER "EEl & g & ¥ & g

The difference among more than two treatments effect
v O H FAEE I0ER q9E & 9= F AaT F [T

2

The association between two variables
s x O T & A HaAT & oo



The correlation between two variables
« of T4 & 949 JedEg & g

4.

Question Number : 12 Question Id : 87408110029 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

. are errors that can be attributed to sources other than sampling, and they can be
r’mdom or non-random.

L

o IiF'ZlI 5 o=
T TFaT B

L ==

181 5 2 s M R = [ = = v =1 o = O T
AGBH a1 -A5=sa =7 9@ - |

=

- 113

Nl 5'1«_’

R4

Options :
Random sampling error

, JTers® dia=ae Fie

NGH-[’ESPDIISE error
T —aidiEpar Jio
F )

Non-sampling error
TT-Tie=E= Fie

3.¢

Response error
EIGIEE =

4, #
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a type of non-probability sampling ?

M= H | THF-F1 IT-FAEA] 9i0=aT 6 UE TS q8 2 ¢
Options :

Quota sampling
| x el Afa=aA

Snowball sampling
5 w T ST



Cluster sampling
VS ISERE

3.¢

Convenience sampling
4w BT HiA=E
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Idea generation by two or more people thinking as freely as possible is formally known
as :

S AT S {EUE @R dT IUEEd Ead w9 99w #1 oS
A= ®H 9 F 9 9@ S0 A 5 7

Options :
Gap analysis

| % Hae Feeo

Forced relationship
)y T HeE

Brainstorming

3 o AT (S-EEIE)

The learning curve

% Hra= & g
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In research terminology the extraneous variable can be described as ............. .
2N STerdell | =e40 =7 Hl 3H WHIT 9o a1 =1 Jhal &

Options :
Linking the independent and dependent variables
| x O AN SATAT =T BN A




Several factors operating in a real-life situation that is not measured in the study
may affect changes in the dependent variable

araigss FJEa B =i § wmE S 9T FE FEE A Js=]adT H
» T FE S E, 9 ANSd =Y H 9idad ®H TH9idd HT Fhd B

2

The outcome or change(s) brought about by the introduction of an independent
variable

IO A1 9iEge (IEEl) B U Emas =Y B EA & gdiE g
3% '

The cause responsible for bringing about change(s) in a situation
4 w FHET BRI H OiaeE (9 B e & [ S S

Question Number : 16 Question Id : 87408110033 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is meant by a "spurious” relationship between two variables ?
Options :
One that is so ridiculously illogical it cannot possibly be true

| x % IO TR W9 § eSS ¥ aw w9 9E 8 aw

An apparent relationship that is so curious it demands further attention
U T 99 A a1 M % 98 o = & & "2 Hmear B

A relationship that appears to be true because each variable is related to a third one
U HEH FAl I Udld BT 5 #4i U =Y U e =97 | Heied

=,

1

One that produces a perfect negative correlation on a scatter diagram
U Sl Uehiel AN (989 ==) 97 UF 99 RS dsa9d Iod
4 23 q-.-' .\ll %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



First step of research is :
ST =T 99" =T B
Options :
Designing the research
| ® SN FH TIIET FATT A

Data Collection
) % HATHST TIEHTHT

[dentification of the research problem
3 o AT FHET @ IEE

Analysis of data

L% HiBST 1 [Fecraor

Question Number : 18 Question Id : 87408110035 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which one of the following is not correct about hypothesis ?
UEmedH T & A § Hefanad 5 | @ 9 981 5 7
Options :

A good hypothesis is generally simple
| % UF F=ET Il JAEETdl J4d Bl B

It is necessary that a hypothesis must never be capable of 'being proved' or

'disproved'

a5 HAEAEH 5 [ UFH dEedAr HEl |1 CFANET B "G 91 C|nad |J
5 @ Bl W AT TE B

Hypothesis provides a right direction to a research
Ji¥ehed=l U= eie I d21 Qe Ue Hial B

In empirical research, formulation of hypothesis is an essential component of the

research design

HAGATSE T H, THeTAT B FHOT ST H TG B/ T ATID
4 % SII9 =

Question Number : 19 Question Id : 87408110036 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher has obtained a set of data having values 1,4, 5, 4, 6, 4, 8, 4, 9, 3, 2 find out
the mode :

U el H 1,4,5,4,6,4,8,4,9,3,2 % AN AcI HAHSI B UH TY==4
o AT B, S @ 991 o

Options :
1. % 6

Question Number : 20 Question Id : 87408110037 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How to judge the depth of any research ?

TE5E1 €1 e 1 =05 B HH ATH AT B 7

Options :
By research title

By research duration
Y AT & ATAT

By research objectives
e IRedl T AJAT

By total expenditure on research
g 9Y [ A B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not related to qualitative research ?
M=eET § |/ BE YOS AgET J F9ieT T8 57

Options :
Thematic analysis
EERHGEEER P

Case Study
g HA=EA (HE =30)

Discourse analysis
3w M GETE

Survey method

. a7 [=7eEr
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Willingness of study participants to participate in the study is obtained by :
oM Hegge H AR o &% 00 Jemge gia9iiEl & 3281 BhEs 1 9T
Options :

Willingness is not necessary

=] &l A8 B

Informed consent
ged HeHd (SRS e )

2. ¢

Oral commitment is sufficient
s & ANES HIEE THT B

Copyright

o

4 % ) 4 p=1
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a referencing style ?
M=faad § 9 39 U5 99 9 A8 & 7
Options :

Vancouver

Chicago
s« T9TERET

Index Medicus

. =T HiSTH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sensitivity of a test measures :
Options :

True positives
|« T HBATHS

True negatives
5 % G TAHAIHD

False positives
3 % AT HHIED

False negatives
4 % =T AR
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Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Type-1I Error occurs if :
area-1l e 79 =1 & FiS
Options :
The null hypothesis is rejected when it is true
| % T4 I EHeIA T T BIF UT 1 a3 Al B

The null hypothesis is accepted even though it is false
g7 TTERedl Bl HAE BN U |l EERE AT S B

2. ¢

Both the null hypothesis as well as alternate hypothesis are rejected
¥p ) Yp ]
3 % I TETI] AT gHledah IEhed=l @FEl JAM-GIGHT HHE & AWl &

The null hypothesis is not rejected when it is true
9V IEedAl |ed B U7 A7 S 9A1 Bl B

4. %
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Question Label : Multiple Choice Question

When the data set contains too many extreme values, the most representative average
value is 7

9 AT H HY=4 (ST He) H T9gd AGw =IH "N BM E, a1 799
e 9famTe ofEd #9 BET B o

Options :
Mean

I

Median
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Question Label : Multiple Choice Question

A researcher wishing to draw a sample from sequentially numbered houses uses a
random starting point and then selects every 6th houses, she/he has thus drawn a .............
sample.

OF oAl Al FgHHE® €9 H BN 99 H UF A9 oW Jmdl B, U@
qGesd RS fH6g @ IWEE Ha B AN B gEd 6 4 "7 H FAA

THEAT B, 3H UHNE FET TF .............. THAT AT |
Options :
Sequential

Systematic
2 \'.?.-' IJ:":I ji_l \.:T:]ﬁ

Simple random
3 % A ATGBH

Cluster
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Randomized clinical trials can be best described as :
TGI8 Hal® TN Hl T9a9 =9 # Fioia mar = J96%ar §

Options :
Experimental studies

TR ST
| UTHIHTR A=A

Analytical studies

FERER e e e
2. %

Observational studies
o FATAEHT TET FEAA

3



Descriptive studies

L% JUIHTHTE HA=TTH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Weight is to the .............. scale of measurement as political affiliation is to the ..............
scale of measurement.
T wvevrrerrnees. THM T B AT TEANTH FIGHAT e, THM TT B |

Options :
ratio; ordinal
L% FHAI; A

ratio; nominal
L T " 1T
o T AIHS

2.

interval; nomunal
AT AEa

3. %

ordinal; ratio
sHHHED; FJAd
=

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When alpha is 0.05, this means that :
I HTHI 0.05 B, O 3901 Hded & 6

Options :

the probability of a Type II error is 0.95
erEd I i I F49=-r 0.95 &

1. #

the probability of a Type II error is 0.05

L x T e @1 FEE=r 0.05 &



the probability of a Type I error is 0.95

y x OR9 1 FE & FHEr 095 B

the probability of a Type I error is 0.05
4 CE9 1 T @ FE9Er 005 B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Reliability of measurement means :
AT T FegEHEar # oF T E o
Options :
The method of measurement produce the same results when repeated

=,

| FT @ @ e S 97 981 9iemE 3o Bl B

The different methods of measurement on different materials produce the same
results
e FEEEl 9% " & G i OF &7 9ienE 300 5 B

The methods of measurement produce different results when repeated
, x AT F I SR SN 9 S-S 91O S B

The same methods of measurement on different materials produce the same result

4 % AN GWEE 9 A9 & FAN T8 JEM 90T S SR B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If you Iladﬂa z-score of 2.33 this would tell you that :
i A9 919 2.33 9 z-%hi< o, ol 9% A9 Farqm @ ¢
Options :
Your score was 2.33 standard deviations above the mean
| I T AT H 2.33 999 GEed el o

Your score was 2.33 standard deviations below the mean
o w HATIH FDHIY AT H 233 AWE GEOE HHoq



There was a probability of 2.33 of obtaining a score greater than your score
3 % IR FHIT H ATH 2-FHT 9T HIA H 2.33 FAEGAT A

There was a probability of 2.33 of obtaining a score less than your score
o FATEI EpR H WH 2RI OTH &2 F 2.33 HHAEAT ol

4

Question Number : 33 Question Id : 87408110050 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sample means are :

gfeel AT &

Options :

Point estimates of sample means
uidesl A1 W1 9wy Ao

1. %
[nterval estimates of population means
5 s CTTHEAT HE AT AH

Interval estimates of sample means
y w FTGRT AT HT S

Point estimates of population means

4 o THEEAT AT ey St

Question Number : 34 Question Id : 87408110051 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Field Study is related to :
H Femae @ 9499 fmag BT
Options :

Real life situation

| ardiges Sa- & i




Experimental situation
2 B 1:| J:I-\la_li qi '_-.—'_le

Laboratory situation
\ w TARTETET F et

Simulation situation

Question Number : 35 Question Id : 87408110052 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following software is a reference manager ?
ad | | HE-A] Jieddy UF JeH g99% 5 7

Options :
ADMB

Chronux
® EIRER

Endnote

Question Number : 36 Question Id : 87408110053 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the iﬂllcrmng is a phgnmm checking tool ?
BialEEEE] o 9 $E-4ar EUEIRZER SIR fIIT—4 R
Options :

ORCID

R



iThenticate

2. o SRS

Publon
3. % TS

Scopus

Question Number : 37 Question Id : 87408110054 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most common structure of a research article in scientific journals is :
IEN=R Ji=RrAT H UF oY o & 99 HH T3 2

Options :
Introduction, Summary, Results & Discussion, Methodology, Conclusion,
References

o TTTET; HITET GO AT ==l 9 anaie; e Jed

1

Summary, Introduction, Results & Discussion, Conclusion, Methodology,
References

5 x ST 9= 9o AR == e e anate; Hee

Introduction, Methodology, Results & Discussion, Conclusion, References

3 @ Oi=: ST Wi 9omH A =99 e J@ed

[ntroduction, Summary, Methodology, Results & Discussion, Conclusion
4 % TCFT; T o miate; 9o o == e

Question Number : 38 Question Id : 87408110055 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A measure of symmetry or asymmetry of data distribution is called :

HATHST (FH®) =9 FH FHEIAr a1 G99 & A19 1 FHET AT B o

Options :



Skewness
- EAzIE {_rﬂ THI :]

Kurtosis
Heliad (FHHea)

Mean
H12

3. =

Median

4w FEIET

Question Number : 39 Question Id : 87408110056 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Study the given graph and answer the question.
Number of Girls and Boys participating in a Rally from Five Different Schools :
Jr= FER-FT Tl & Yol H§ AN o el dsihdl ST asat @ He

B00
5530 —4—

500 f----cmcmcmocao] peccocoooo-- - - EEEE B EaRatr

450
400 +-1 -1 BE-----1 Bl

350
300 - -1 BN----- BR-----

1 0OGirls
250

M Boys

Number of Children

200 +-1 -1 B-----1 BR-----
150

50

School

What is the total number of girls participating in the rally from schools A and C
together ?
Thel A A THT C | Yl & AFT oF drcll Tsihdi @ FHel e fhal




Options :

4, o 925

Question Number : 40 Question Id : 87408110057 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question.

Number of Girls and Boys participating in a Rally from Five Different Schools :

I FER-3ET el | YAl | AR o gl dSihal A @Sl @ 6
600
550

500 +-----=m---mmnn

_____ [ ——

450
400 +-4 -----|

350
300 +-1 -

1 0OGirls

250
200 +-41 -----1

M Boys

Number of Children

150

100 +-4 [----

50

0

A B C D E
School

What is the average number of boys participating in the rally from all the schools
together ?

AT eIl F AT Yol ° AR o gl ds@l 3 HEd |9 @Al g 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.



Options :

1 500
2 480
3 525
4 520

Subject & Area Concerned
Section Id : 874081183
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 180
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 874081225
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 87408110058 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The pharmacological action of Atropine is :

Options :
| @ Anticholinergic

) ® Antidepressant

3 % Muscle relaxant

4 % Cholinergic

Question Number : 42 Question Id : 87408110059 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Myasthenia gravis 1s :
Options :

| Infective disorder

) Autoimmune disorder

Viral disorder
3. %

4% Bacterial disorder

Question Number : 43 Question Id : 87408110060 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rheumatoid arthritis 1s :

Options :

| Autoimmune disorder

5 ® Infective disorder

3 % Viral disorder

4% Bacterial disorder

Question Number : 44 Question Id : 87408110061 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cardinal symptom of Eclampsia 1s :

Options :



L& Convulsion

5 % Asthma

3 % Running Nose

4 w Fever

Question Number : 45 Question Id : 87408110062 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a Tertiary compound ?
Options :

| & Atropine

Glycopyrrolate
Vecuronium

Pancuronium

Question Number : 46 Question Id : 87408110063 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Boiling point of Ether at room temperature is :

Options :

| % 25 degree centigrade

) 35 degree centigrade

3 % 45 degree centigrade



o % 55 degree centigrade

Question Number : 47 Question Id : 87408110064 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The color of medical Oxygen cylinder is :
Options :
| v Black

Blue

, x White

Grey
4. %

Question Number : 48 Question Id : 87408110065 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Physostigmine is used for :
Options :

| % Rheumatoid Arthritis

, w Gouty arthritis

3 Myasthenia gravis

Muscular dystrophy
4, =

Question Number : 49 Question Id : 87408110066 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Spinal Anaesthasia was introduced by :

Options :
Pilkkin
5 % W. Morton

H.W. Lonfellow
3. %

4 August Bier

Question Number : 50 Question Id : 87408110067 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Length of Trachea in an adult is approximately :

Options :

1535-:111

Question Number : 51 Question Id : 87408110068 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fentanyl i1s a :

Options :

| @ Opiate analgesic



, » NSAID

, % PPI

H2 Blocker

Question Number : 52 Question Id : 87408110069 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one is non opiate analgesic ?
Options :

| % Fentanyl
Butraphenol

Paracetamol

4 % Pentazocine

Question Number : 53 Question Id : 87408110070 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an anticonvulsant ?
Options :

Thiopental sodium
1.¢

, % Propofol

Glycopyrolate

4 % Pentazocine



Question Number : 54 Question Id : 87408110071 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The seat of Saman Vayu 1s :

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

| Amashya

) Pakvashaya

3 Basti

Greeva
4.

Question Number : 55 Question Id : 87408110072 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Length of spinal anaesthesia needle 1s :

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

4 cm



16 em

Question Number : 56 Question Id : 87408110073 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Commonly used Epidural needle size are :

Options :

| x 14, 16G

) 16, 186G

18, 20G
3. %

4, % 20, 22G

Question Number : 57 Question Id : 87408110074 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Covishield /CoVaccine use for :
Options :

L& Active Immunity

Passive Immunity
2. %

Immunoglobulin

Active and Passive Immunity
4.%

Question Number : 58 Question Id : 87408110075 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one crosses the Blood Brain Barrier :
Options :

At !
L ropine

) % Glycopyrolate

Vacuronium

4 % Pancuronium

Question Number : 59 Question Id : 87408110076 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Maximum dose of Xylocaine with Adrenaline for local infiltration
Analgesia 1s :
Options :

| % 300 mg

) ® 400 mg

3 200 mg

4 % 600 mg

Question Number : 60 Question Id : 87408110077 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tidal volume 1n an adult is :

Note: For this question, discrepancy is found in



question/answer. Full Marks 1s being awarded to all
candidates.

Options :
| 02 ml/kg

5 04 ml/kg

08 ml/kg
3.

4 10 ml/kg

Question Number : 61 Question Id : 87408110078 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tidal Volume multiplied by respiratory rate denotes :

Options :
| % Stroke volume

5 % Cardiac output

3 Minute Ventilation

L% Cardiac index

Question Number : 62 Question Id : 87408110079 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Breath Holding Time for fitness of Anaesthesia in ASA grade one is

it e

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all



candidates.
Options :
L 10 minute

15 minute

20 minute
3.

25 minute

Question Number : 63 Question Id : 87408110080 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Physiological lordosis 1s present in :

Options :

% Pediatrics age

) Pregnancy

Geriatic age

4% Infant

Question Number : 64 Question Id : 87408110081 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rauwlfia serpentine is botanical name of :

Options :
-~ Sarpgandha

> % Tagar



3 % Jatamansi

4% Amrita

Question Number : 65 Question Id : 87408110082 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following i1s known as Vayasthapan Drug ?
Options :
| % Amrita

) % Aswagandha

3@ Amalks

4 % Ajawayan

Question Number : 66 Question Id : 87408110083 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one shows as Hoffmann Degradation ?
Options :

| % Vecuronium

Atropine
2.
3 % Scoline
Atracuronium



Question Number : 67 Question Id : 87408110084 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who 18 known as the father of Anesthesia ?
Options :

WTG Morton
1. v

5 % Priestley

3 % John Snow

Karl Koller

Question Number : 68 Question Id : 87408110085 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Guedel’s stages of anesthesia were relevant for :
Options :

Halothane
1. =

Thiopentone
2. %

3 @ Ether

Trilene

Question Number : 69 Question Id : 87408110086 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Pin Index of Oxygen :



Options :

Lx L,°
. & B
L% 1.6
3. 5
4.9

Question Number : 70 Question Id : 87408110087 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Carbon diaoxide used for Pneumoperitonium in laproscopic
cholicystectomy 1s :

Options :

1.0 Lit/Min
1.

3.0 Lit/Min
. 4.0 Lit/Min

4 % 20 Lit/Min

Question Number : 71 Question Id : 87408110088 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Murphy's eye iz designed in :
Options :

. Red rubber endotracheal tube

FVC endotracheal tube
2. ¢



Guedel’'s airway

4% LMA

Question Number : 72 Question Id : 87408110089 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

High pressure low volume i1s characteristic of :
Options :

| Red rubber endotracheal tube

5 % PVC endotracheal tube

3 % N¥lon spiral tube

, » LMA

Question Number : 73 Question Id : 87408110090 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In treatment of cardiac arrest Adrenaline may be given intracardiac
in a dose of 5-10 ml in concentration of :

Options :
1 1n 1000

) 1 1in 10000

. 11n 100000
3. %

« 1 in 200000



Question Number : 74 Question Id : 87408110091 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Glycopyrrlate is used in reversal with Neostigmine for :
Options :
Anti muscarinic effect

1. ¢

Cholinergic effect

Ant nicotinic effect
R

Anti adrenergic

Question Number : 75 Question Id : 87408110092 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The latest recommendation for Compression (C) to ventilation (V) ratio
in CPR is :
Options :

| BT

o
l_l.

Question Number : 76 Question Id : 87408110093 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The adult dose of Succinylcholine for endotracheal intubation 1s :
Options :

. 2 to 2.5 mg/kg 1.v.

) ® 4 to S5 mg/kgiv.

; & 3t03.5 mg/kg1i.v.

4 1 to 1.5 mg/kg 1.v.

Question Number : 77 Question Id : 87408110094 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Train of four is used for the monitoring of :
Options :

| % Spinal Anesthesia

, % Epidural Anesthesia

v General Anesthesia

4% Local Anesthesia

Question Number : 78 Question Id : 87408110095 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which of the following use of suxamethonium for intubation be
dangerous ?

Options :



Appendicitis

1. #

5 Hypertensive

- Severely burn a few days ago
4% Pulmonary T.B.

Question Number : 79 Question Id : 87408110096 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following are suitable for producing epidural analgesia ?
Options :

2% Pethaidine
1. %

) 0.5% Bupivacaine

5% Lignocaine with Adrenaline
3. %

5% ketamine
4. %

Question Number : 80 Question Id : 87408110097 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which inhalational anesthetic agent 1s the drug of choice for
asthmatics patients ?

Options :

L Halothane

) % Isoflurane



Sevoflurane

Desflurane

Question Number : 81 Question Id : 87408110098 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Yogya-sutriya deals with :
Options :

Yoga training

Surgical traiming
2. = =

 Principles of compound drug preparation

4% Principles of single drug preparation

Question Number : 82 Question Id : 87408110099 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Agnikarm 1s contraindicated in :
Options :
Sarad ritu

. %

) % Grizsm ritu

Varsa ritu
3. %

Sarad & Grism ritu



Question Number : 83 Question Id : 87408110100 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Avurveda 1s upveda of :
Options :

| % Rigveda
Samaveda
Yajurveda

4 Atharva veda

Question Number : 84 Question Id : 87408110101 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Anantavata is a disease of :
Options :

Vata roga

Netra roga

2. %

Karma roga
3. =

Siro roga
4. &

Question Number : 85 Question Id : 87408110102 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Pitta prakop occurs in :
Options :

| % Hemant ritu

5 Sharad ritu

3 % Grism ritu

~ Varsa ritu
4. %

Question Number : 86 Question Id : 87408110103 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The satmya due to abhyas is known as :
Options :
L ® Ritu satmya

, « Oka satmya

Desa satmya
3.%

L% Kala satmya

Question Number : 87 Question Id : 87408110104 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Sangyaharan Day is celebrated on :

Options :

6™ February
1.9 L



5 % 16® QOctober

3 % 17*® January

4 % 25% December

Question Number : 88 Question Id : 87408110105 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The alkaloid Hyoscine is obtained from :

Options :
| « Dhatura

Ashwagandha
2. %

Sarpgandha

« Bhallataka

Question Number : 89 Question Id : 87408110106 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Cardiac cycle duraction in an adult man is :
Options :
L% 0.4 Sec

) 0.8 Sec

3 % 1.2 Sec

4% 1.6 Sec



Question Number : 90 Question Id : 87408110107 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following has analgesic properties ?
Options :

Bramhi

) Erand

3 % Vacha

Shankhapushpi

Question Number : 91 Question Id : 87408110108 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Best preservative for blood 1s :

Options :
1. ® ACD

) CPDA

3 % Heparine

4 » EDTA

Question Number : 92 Question Id : 87408110109 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Morphine is contraindicated in :

Options :

| % Renal colic

, % Postop. Pain

3 @ Biliary colic

4 % Cardiac asthma

Question Number : 93 Question Id : 87408110110 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hyperbaric oxygen is used for the management of :
Options :

. CO, NArcosis
1.

. CO Poisoning

3 % Burns

Cvanide poisoning
4, %

Question Number : 94 Question Id : 87408110111 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most soluble gas in blood is :

Options :

N.O
1.¢ °



Nitrogen
2. %

3 % Oxygen

4% Air

Question Number : 95 Question Id : 87408110112 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which poisoning Atropine sulphate 1s used ?
Options :

Carbolic acid
» % Cyanide
; % Nitric acid

v Organophosphate

Question Number : 96 Question Id : 87408110113 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The drug of choice in acute myocardial infarction :
Options :

% Morphine

, w LV. Heparin

Nitroglycerine

4 Streptokinase



Question Number : 97 Question Id : 87408110114 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Introduction of Nadi Pariksha i1s contribution of :
Options :
Vagbhatta

. Sarangadhar

3 % Bhavprakasha

Charaka
4.%

Question Number : 98 Question Id : 87408110115 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which doshas are involved in Murchha ?
Options :
Pitta + Tama

» Vata + Tama
; » Kapha + Vata

rs : + E :
L Kapha + Pitta

Question Number : 99 Question Id : 87408110116 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Non Pharmacological analgesics technique 1s :
Options :
|« TENS

» % Spinal block

3 % Opioids

4 % Epidural block

Question Number : 100 Question Id : 87408110117 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In LSCS the level of sensory block 1s required up to :
Options :

L% T10

T8
2. %

T6

T4



